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SOURCE 6: An extract from notes written by Churchill in preparation for a speech. The speech was made as part of the Conservative Party’s 
general election campaign in Plymouth, Devon, on 23 October 1951 (CHUR 5/44 B/215-216) 
 

 On a scale of 1-5 how far do you agree that 
this source supports this inference? 

Which extract(s) from the source support 
your argument?  

The Labour party are fighting the election by 
arguing that they alone would be able to 
prevent another world war 

  

Churchill is ready to attack the USSR if 
possible 

  

Churchill thinks that nuclear weapons can no 
longer be used as a threat 

  

This source shows us that nuclear weapons 
helped to make the world safer  

  

 


